Basketballnavi.DB X4V iR

i EER L))
+- LEEFMNI—MIWDBEDF—L/JERRE EAKHIZ+/- (On)Zid
+/-(0On) |YHEFHAO—MIWBIEEDF—LBEREE
+- (Off) |YZBFEARVFIZWDIEEDF—LBREE
+/- (Net) |+/- (On)hD+/- (Off)EZLBILV=1E
2P% Y—iRA Vb 21— 2P%=(2PM/2PA)
2PA Y—iRA b 2 —FRIEH
2PM DA N V] SR T N A5 E-
3P% A)—RA b 2 — bR 3P%=(3PM/3PA)
3PA A)—RAU b 21— IR S
3PM AY—RA Vb 21— %k
Age Fn HEH: MR —X>D1A1H
AST T AN
ASTY% | HREFATOFICHTOOBRIO. F—LDT(—ILF
J—)LICRHLTHRBEFATANERINT HEE
BC INRT YRR
BLK JOvo
BLK% | RREFHNIATZICHTODIMRID, F—LTAITVREIC
HEBRFNTOVIERDITDEE
BSR IOy o(Tavrsnt-)
DRB TATTURYIND R
DRB% Fiﬁ%i&%@i;n?l:dﬂfb)é[%w\ %:Lw‘*‘»r?:‘/xﬁ(:
WNRBFNTAIIVRA)INDURET BE|E
DQ TARIGAYIT7ALT T7IILE
EFF HAEME Tovxpikf/:lrxégiﬂgﬂg?\t
EJ ED&IERTHRIGLI- BOXDIZEITBELI-IEERT
eFG% REBAMME(3PIE3A. 2PF258)#EELI-FG% eFG%=(FGM+(0.5*3PM))/FGA
FBP T7ARTLA OB AR
FG% T4—ILRT— )L ThEE ( 2P+3P) FG%=(FGM/FGA)
FGA T4—ILET— )L 55 ( 2P+3P) FGA=(2PA+3PA)
FGM T4—ILRT— LA %k ( 2P+3P) FGM=(2PM+3PM)
FD I I (T7IIINEZITI=H)
FT% ) —RA—RINE (2P+3P) FT%=(FTM/FTA)
FTA 1) —20—RBH
FTM J1)—ZAO—R
MP H 15 B 1 35 B4
IP RAVEAY 21—+
IPIG 1REFHTORIUIAY 21—
IP% RAVMAY 2a— TS
JAM EE-
OoP RAVEN 12— (3P 2—REEFLLY)
OP/G 1REFEHNTORIUIM Y 21—
OP% RAVINS 12— T EK
ORB ATV RYINHURE
ORB% r;q%g%@ivmﬂ:ﬂjg%ﬂ%@ ?’:—L\Iﬂ%ﬂ%lz
WEBFENATIVRAYINGURET HEE
Pace R—R (HEHER) HEABUNFEF— LK EEHEL
PF IN—YFILTFIILE
PfT B—2A—N—HhoDF A




Basketballnavi.DB X4V iR

i EER L))
PIR B!)—4 MR EFF (& EikE) EFFDfEIZBSREFO%E Nk
PitP RAVEATHDEAR
Pos RoLay
Poss REvia (KBRS BELNBVIFEEREREBMNZ L
SCP THURFYUANLDE A
STL ATA4—ILE
sTLY |TAREBEFHNTOTZICHTOBERID, F—LTAITUREIC
HNEBRFNRTA—ILERNT BEE
sTOV HFDORTA—IVICERLGEWNI—F —/\—# sTOV=(TOV-#8FSTL)
TF FHOZHAILITFIILE
TOV B—2F——%
TOV% Fﬂ%i%%@bu?l:ﬂjj‘cuélﬁjg)s F—LBERFIC
HNEBRFNI—2A—N—SNBEE
TRB VA IN 2% TRB=(ORB+DRB)
TRB% |[HREFATATICHTOSIRID, HREFA
(TR TATIVRED))IND UL ETBHEE
TS% B/EaME TS%=PTS/2*(FGA+(0.44*FTA)
UF FURR—=YRUZA49T7IIL#K
USG% [SEEFENDOTICHTLNSEID ., F—LIER(C

Ya—hERKRTSEIE




